ANTENNA MOUNTING PIPES

2-3/8" TO 2-7/8"

(ORDERED SEPARATELY)

L

PARTS LIST

ITEM| QTY | PART NO. PART DESCRIPTION LENGTH UNIT WT. NET WT.
1 3 X-F3PHRW | CORNER WELDMENT FOR 3-SIDED FORTRESS PLATFORM HADNRAIL KITS 27.72 83.15
2 12 | X-SCX3-FR FORTRESS CROSSOVER PLATE 6.61 79.37
3 3 P2150 2-3/8" 0.D. X 150" SCH 40 GALVANIZED PIPE 150in 45.77 137.31
4 24 X-UB5300 5/8" X 3" X 5-1/4" X 2-1/2" U-BOLT (HDG.) 1.15 27.59
5 54 X-UB5258 5/8" X 2-5/8" X 4-1/2" X 2" U-BOLT (HDG.) 1.00 54.01
6 | 108 G58FW 5/8" HDG USS FLATWASHER 1/8 in 0.07 7.61
7 | 108 G58LW 5/8" HDG LOCKWASHER 0.03 2.82
8 | 108 G58NUT 5/8" HDG HEAVY 2H HEX NUT 0.13 14.03

TOTALWT. # 405.87

{{DETAIL B

TOLERANCE NOTES

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (# 0.030%)
DRILLED AND GAS CUT HOLES (# 0.030") - NO CONING OF HOLES

DESCRIPTION

HANDRAIL KIT FOR
12' FORTRESS™ PLATFORM

Locations:
New York, NY

Engineering Atlanta, GA
Support Team: Los Angeles, CA
1-888-753-7446  Plymouth, IN

Salem, OR

LASER CUT EDGES AND HOLES (£ 0.070") - NO CONING OF HOLES A valmont Vw Dallas, TX

BENDS ARE t 1/2 DEGREE

ALL OTHER MACHINING (£ 0.030") CPD NO. DRAWN BY ENG. APPROVAL PART NO. N

ALL OTHER ASSEMBLY (£ 0.060") CEK  8/29/2017 F3P-HRK12 o3

mgmﬂ::vuoﬁ: NTHIS LMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO. m fn’
D DRAWING VAI N

NDUSTIIES AND CONSIDERED A TRADE SECRET o | 81| 02 CUSTOMER BMC  9/14/2017 F3P-HRK12




1/32"

TOLERANCE NOTES DESCRIPTION

L ti N
- Now York NY
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: HANDRAIL KIT FOR 1 Engineering  Atlanta, GA
SAWED, SHEARED AND GAS CUT EDGES (# 0.030%) . m Support Team:  Los Angeles, CA
DRILLED AND GAS CUT HOLES (£ 0.030") - NO CONING OF HOLES 12" FORTRESS™ PLATFORM 1-888-753-7446  Plymouth, IN

. Salem, OR
LASER CUT EDGES AND HOLES (# 0.070") - NO CONING OF HOLES A valmont \* COMMNY D:IIea"s‘, ™
BENDS ARE t 1/2 DEGREE

ALL OTHER MACHINING (_-t 0,0307 CPD NO. DRAWN BY ENG. APPROVAL PART NO.
ALL OTHER ASSEMBLY (% 0.060%) CEK  8/29/2017 F3P-HRK12
PR:PHEMR’VNOTE: CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO.

T o DR A TS S o ave | 81 | 02| CuUSTOMER |BMC 9M4/2017 F3P-HRK12

¢d40¢
39vd




